Getting Partial to Percentages: Word problems

Kayla sat her driving test and got 60% of the
multi-choice questions right. There were 25
guestions.

How many did she answer correctly?

rate

base

Josh sat his driving test.
He got 17 of the 25 questions correct.

What was his percentage mark for the test?

rate
base
Dan scored from 18 of the 24 shots at goal he took at
the World Cup.
What was his goal-kicking percentage?
rate
base
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Getting Partial to Percentages: Word problems

Leila had a success rate of just under 67% for her shooting
from the field. She took 27 shots.

How many went in?

rate

base

35% of the girls in the school play a musical instrument.
That means 84 girls can play an instrument.

How many girls are in the school?

rate
base
62.5% of the boys at school play winter sport.
66 boys play no winter sport.
How many boys are in the school?
rate
base
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Getting Partial to Percentages: Word problems

Write a percentage problem with the
answer for this picture.

rate

base

nzmaths.






